
DWG ID# Description Qty
A Single Door Frame ‐Left  1 Master Item
A1 Single Door Transport Bar 1 Component
A2 1/2" x 1" Hex Head Tap Screw 4 Component
B Canopy Door Assembly‐ Left 1 Master Item
B1 Canopy Door Frame‐ Left 1 Component
B2 Canopy Door Panel‐UW 1 Component
B3 Canopy Door Panel‐Clear 1 Component
C Door Hangar Assmebly 2 Master Item
C1 3/8" x 6" Carriage Bolt 2 Component
C2 3/8" Washer 4 Component
C3 3/8" Wing Nut 2 Component
D  Door Baseplate 2 Master Item
E Closer Assembly 1 Master Item
E1 Closer Body Arm 1 Component
E2 Closer Door Arm 1 Component
E3 1/4‐20 x 1" Phil. Flat Mch. Screw 4 Component
E4 1/4‐20 x 1" Phil. Flat Mch. Screw 2 Component
E5 6mmX15mm Phil. Truss Head Mch. Screw  1 Component
E6 6mmX10mm Phil. Pan Head Mch. Screw  1 Component


